Find the value of the expression.
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Simplify:

26. C2x3’y‘°’h3 CX‘°’yh3 [A] 9x“y*° [B] 8x™®y“ [C] 9x®y™ [D] 8x“y™°
27. (- 3x2yh2 C5xy3h2 [A] 225x°y®  [B] 34x’y® [C] 225x'y® [D] 34x°y®
28 (axiy?lF {2y Il [A] 64x°y2  [B] 20x°y2  [C] 20x2y** [D] 64x2y*

20, (5wl (- axiyAl

[A] —152x"y*° [B] 3375x"y" [C] —152x"y* [D] 3375x"y*
30, (- xy“f Caxyll [A] —16°y"  [B] 15Xy [C] —16x"y*®  [D] 15x°y™

31 (- 5x2yh2 (- 5x4y4h3

[A] —3125x"y®  [B] —100x®y* [C] —100x"y® [D] - 3125x°y™

32. (- 3yl (2l

[A] —108x"°y" [B] —23x"y° [C] —23x"°y™ [D] —108x'y°

33, (- axl (- 3yl

[A] —11x"y® [B] —432¢°y* [C] —11Cy™ [D] —432xy"
3. (ocyl (-anlf [A] 128Xy [B] 24x°y"  [C] 128x"y®  [D] 24x"y®
3. {5yl [yl [A] —25x°y**  [B] 24x°y*® [C] -25x°y"  [D] 24x°y"
3. 7iarf’ [A] 63r° [B] 441r° [C] 441r° [D] 63r®

37. g’ [A] 4096nF [B] 64n? [C] 64nt [D] 4096n7



Simplify:
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[B] —125,000d°

[B] 768t° [C] 20,736t°
[B] —8000p°  [C] —500p°
[B] 81K° [C] 81K’
[B] 32v* [C] 256v°
[B] 576y° [C] 96y°
[C] —1250d°
[B] 50,6250  [C] 405h
[B] 112¢* [C] 38,416¢°
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Simplify:
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Evaluate ka®, fork=4,a=10,ande=2.
Evaluate — ka°, fork=3,a=>5, and e = 3.
Evaluate hkage, fork=2,a=10 ande=4.
Evaluate |- kalf’, fork=2,a=5ande=2.

Evaluate ka®, fork=4,a=5,ande= 3.



